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import matplotlib.pyplot as plt
from scipy.optimize import curve_fit
dlist = [20,40,60,80,100,120,140]
slist = [6.5,18.8,33.6,58.1,83.4,118,153.5]
def linear_func(x,a,b):
y = axx+b
return y

(a,b),cov = curve_fit(linear_func,dlist,slist)

spred = [linear_func(d,a,b) for d in dlist]
plt.scatter(dlist,slist,label='Raw data')
plt.plot(dlist,spred,label="Fitted data')
plt.legend()

plt.show()

dlist = [20,40,60,80,100,120,140]
slist = [6.5,18.8,33.6,58.1,83.4,118,153.5]
def quad_func(x,a2,b2,c2):

Yy = a2kxkx*2+b2xx+c2

return y
(a2,b2,c2),cov = curve_fit(quad_func,dlist,slist)
spred2 = [quad_func(d,a2,b2,c2) for d in dlist]
plt.scatter(dlist,slist,label='Raw data')
plt.plot(dlist,spred,label="Fitted data(l)"')
plt.plot(dlist,spred2,label="Fitted data(2)"')
plt.legend()
plt.show()

dlist = [20,40,60,80,100,120,140]
slist = [6.5,18.8,33.6,58.1,83.4,118,153.5]
def six_func(x,a6,b6,c6,d6,e6,f6,g6):

Yy = ab*Xx**6+b6*x**5+CO* X *4+d6*X**3+e6*x**2+f6*x+g6



return y
(ab,b6,c6,d6,e6,f6,g6) ,cov = curve_fit(six_func,dlist,slist)
spred6 = [six_func(d,a6,b6,c6,d6,e6,f6,g6) for d in dlist]
plt.scatter(dlist,slist,label='Raw data')
plt.plot(dlist,spred,label="Fitted data(l)"')
plt.plot(dlist,spred2,label="Fitted data(2)"')
plt.plot(dlist,spred6,label="Fitted data(6)"')
plt.legend()
plt.show()

import numpy as np

xarray6 = np.linspace(20,140,1000)

yarray6 = six_func(xarray6,a6,b6,c6,d6,e6,f6,g6)
plt.plot(xarray6,yarray6)

dlist = [20,40,60,80,100]
slist = [6.5,18.8,33.6,58.1,83.4]

dlist_test [120,140]
slist_test = [118,153.5]

def linear_func(x,a,b):
y = axx+b
return y
(a,b),cov = curve_fit(linear_func,dlist,slist)

spred = [linear_func(d,a,b) for d in dlist_test]

def quad_func(x,a2,b2,c2):

Yy = a2kxkx*2+b2xx+c2

return y
(a2,b2,c2),cov = curve_fit(quad_func,dlist,slist)
spred2 = [quad_func(d,a2,b2,c2) for d in dlist_test]

def four_func(x,a4,b4,c4,d4,es):

Yy = adkxkx4+badxxxx3+caxxx*x2+d4xx+ed

return y
(a4,b4,c4,d4,e4),cov = curve_fit(four_func,dlist,slist)
spred4 = [four_func(d,ad4,b4,c4,d4,e4) for d in dlist_test]

plt.scatter(dlist,slist,label="'Raw data')

plt.plot(dlist_test,spred,label="'Fitted data(l)"')
plt.plot(dlist_test,spred2,label="'Fitted data(2)"')
plt.plot(dlist_test,spred4,label="'Fitted data(4)"')

plt.legend()
plt.show()



19=[20,40,60,80,100]
slt=[6.5,18.8,33.6,58.1,83.4]

1_t=[120,140]
sls_tt= [118,153.5]

flne_c(x,b):

y=*X+

ruy
(a,b),v=crv_f(la_u,dti)
pr=[n_uc(,a,b)rdl_]

qua_fc(x,2b2,c2):
Y=24X*x*2+b24X+2
ur
(2,2,c2),= cv_(qd_unc,dlt,q)
sprd2 =[qu_fu(,a2,b2,c2)odinl_]

dffu_fu(x4,b4,c44,4):
Y=AXX*kA+4 KX X**k3+CAR XK X2+ 4% X +4
tuy

(a4,b4,4,d4,4) ,cv=cuv_fi(f_fnclt)

sp4=[fu_fuc(,4,b4,4,4,4)odli_st]

p.scr(dl,ls,labl="Rw")
.t(ds_s,sprlbe="'Fteddt(1)")
pl.plt(dls_pd2,1bl="Fta(2)"')
pl.pl(dlis_,4,1lbel="F(4)")

L.gd()
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